

$$\text{Př 1)} \int \left( 3 \sin x + \frac{2}{1+x^2} - \frac{5}{x^6} + 7e^x \right) dx =$$

$$= 3 \int \sin x dx + 2 \int \frac{dx}{1+x^2} - 5 \int x^{-6} dx + 7 \int e^x dx =$$

$$= -3 \cos x + 2 \arctg x - 5 \frac{x^{-5}}{(-5)} + 7 e^x + C =$$

$$= 2 \arctg x - 3 \cos x + \frac{1}{x^5} + 7 e^x + C$$

$$\text{Př 2)} \int \frac{1-x^3}{x^4} dx = \int \left( \frac{1}{x^4} - \frac{x^3}{x^4} \right) dx = \int x^{-4} dx - \int \frac{1}{x} dx =$$

$$= \frac{x^{-3}}{-3} - \ln|x| + C$$

$$\text{Př 3)} \int \frac{(x^2+1)^2}{x^3} dx = \int \frac{x^4+2x^2+1}{x^3} dx = \int \frac{x^4}{x^3} dx + 2 \int \frac{x^2}{x^3} dx + \int \frac{1}{x^3} dx =$$

$$= \int x dx + 2 \int \frac{1}{x} dx + \int x^{-3} dx = \frac{x^2}{2} + 2 \ln|x| + \frac{x^{-2}}{-2} + C =$$

$$= \frac{x^2}{2} + 2 \ln|x| - \frac{1}{2x^2} + C$$

$$\text{Př 4)} \int e^x \cdot 3^x dx = \int (3e)^x dx = \frac{(3e)^x}{\ln 3e} + C \quad (3e \text{ je konstanta})$$

$$\text{Pr 5)} \int \frac{x^4 + x^3 - x^2 + x + 4}{x^2 + 1} dx =$$

$$(x^4 + x^3 - x^2 + x + 4) : (x^2 + 1) = x^2 + x - 2$$

$$\begin{array}{r} -x^2 \quad -x^2 \\ \hline x^3 - 2x^2 + x + 4 \end{array}$$

nejvyšší člen je nejvyšším, takže vem  
a první člen menší člen až je dělitelný

$$\int \left( x^2 + x - 2 + \frac{\text{zbytek } 6}{\text{dělitel } x^2 + 1} \right) dx = \frac{x^3}{3} + \frac{x^2}{2} - 2x + 6 \arctg x + C$$

$$\text{Pr 6)} \int 10^x \left( 1 + \frac{10^{-x}}{\cos^2 x} \right) dx = \int \left( 10^x + \frac{10^x \cdot 10^{-x}}{\cos^2 x} \right) dx = \frac{10^x}{\ln 10} + \int \frac{1}{\cos^2 x} dx$$

$$= \frac{10^x}{\ln 10} + \lg x + C$$

$$\text{Pr 7)} \int \frac{x^2}{1+x^2} dx = \int \frac{x^2 + 1 - 1}{1+x^2} dx =$$

$$= \int \frac{1+x^2}{1+x^2} dx - \int \frac{1}{1+x^2} dx \Rightarrow x - \arctg x + C$$

$$\searrow$$

$$x + \arctg x + C$$

$$\text{Pr 8)} \int \sqrt[3]{x} = \int x^{\frac{1}{3}} dx = \frac{x^{\frac{4}{3}}}{\frac{4}{3}} + C = \frac{3}{4} \sqrt[3]{x^4} + C$$

$$\text{Pr 9)} \int 3e^{\pi x} dx = 3e^{\pi x} + C$$

$$\text{Pr 10)} \int \frac{1}{\sqrt[7]{x}} dx = \int x^{-\frac{1}{7}} dx = \frac{x^{\frac{6}{7}}}{\frac{6}{7}} = \frac{7}{6} \sqrt[7]{x^6} + C$$

$$\begin{aligned} \text{Pr 11)} \int \frac{2x}{3\sqrt{x}} dx &= \frac{2}{3} \int \sqrt{x} dx = \frac{2}{3} \int x^{\frac{1}{2}} dx = \frac{2}{3} \cdot \frac{x^{\frac{3}{2}}}{\frac{3}{2}} + C = \\ &= \frac{2}{3} \cdot \frac{2}{3} \sqrt[3]{x^3} + C = \frac{4}{9} x \sqrt{x} + C \end{aligned}$$

rzeknie - chwila myślenia

$$\hookrightarrow \left( \frac{4}{9} x \sqrt{x} + C \right)' = \frac{4}{9} \cdot \frac{3}{2} \cdot x^{\frac{1}{2}} = \frac{2}{3} \sqrt{x} + 0 = \frac{2\sqrt{x}}{3} \cdot \frac{\sqrt{x}}{\sqrt{x}} = \frac{2x}{3\sqrt{x}}$$

$$\begin{aligned} \text{Pr 12)} \int \frac{dx}{e^{5x}} &= \int \left( \frac{1}{e^5} \right)^x dx = \int (e^{-5})^x dx = \frac{e^{-5x}}{\ln(e^{-5})} + C = \\ &= \frac{e^{-5x}}{-5 \cdot \ln e} + C = \frac{e^{-5x}}{-5} + C \end{aligned}$$

$$\begin{aligned} \text{Pr 13)} \int \left( 2x^3 - \frac{x}{2} + \frac{1}{x} \right) dx &= 2 \int x^3 dx - \frac{1}{2} \int x dx + \int \frac{1}{x} dx = \\ &= 2 \frac{x^4}{4} - \frac{1}{2} \cdot \frac{x^2}{2} + \ln|x| + C = \frac{x^4}{2} - \frac{x^2}{4} + \ln|x| + C \end{aligned}$$

$$\text{Pr 14)} \int \left( \frac{1}{\sqrt[4]{x^3}} + \frac{1}{\sqrt{x}} \right) dx = \int \frac{1}{x^{\frac{3}{4}}} dx + \int \frac{1}{x^{\frac{1}{2}}} dx = \int x^{-\frac{3}{4}} dx + \int x^{-\frac{1}{2}} dx =$$

$$= \frac{x^{\frac{1}{4}}}{\frac{1}{4}} + \frac{x^{\frac{1}{2}}}{\frac{1}{2}} + C = 4\sqrt[4]{x} + 2\sqrt{x} + C$$

$$\text{Pr 15)} \int (2x^3 - 5x^2 + 8x - 3) dx = 2 \int x^3 dx - 5 \int x^2 dx + 8 \int x dx - 3 \int dx =$$

$$= 2 \frac{x^4}{4} - 5 \frac{x^3}{3} + 8 \frac{x^2}{2} - 3x + C = \frac{x^4}{2} - \frac{5x^3}{3} + 4x^2 - 3x + C$$

$$\text{Pr 16)} \int \frac{(2x^2+1)^2}{x^3} dx = \int \frac{4x^4 + 4x^2 + 1}{x^3} dx = \int \frac{4x^4}{x^3} dx + \int \frac{4x^2}{x^3} dx + \int \frac{1}{x^3} dx =$$

$$= 4 \int x dx + 4 \int \frac{1}{x} dx + \int x^{-3} dx = 4 \frac{x^2}{2} + 4 \ln|x| + \frac{x^{-2}}{-2} + C =$$

$$= 2x^2 + 4 \ln|x| - \frac{1}{2x^2} + C$$

$$\text{Pr 17)} \int \left( \frac{2}{\cos^2 x} - 3 \cos x + 1 \right) dx = 2 \int \frac{1}{\cos^2 x} dx - 3 \int \cos x dx + \int dx =$$

$$= 2 \operatorname{tg} x - 3 \sin x + x + C$$

$$\text{Pr 18)} \int \left( 5 \sin x + \frac{1}{\sin^2 x} - 2 \right) dx = -5 \cos x - \cot x - 2x + C$$

$$\text{Pr 19)} \int e^{3x} \cdot 2^x dx = \int e^3 \cdot e^x \cdot 2^x dx = e^3 \int (2e)^x dx = e^3 \cdot \frac{(2e)^x}{\ln 2e} + C =$$

$$= \frac{2^x \cdot e^x}{\ln 2e} + C$$

$$\text{Pr 20)} \int 4^x \cdot \left(1 - \frac{4^{-x}}{1+x^2}\right) dx = \int \left(4^x - \frac{1}{1+x^2}\right) dx = \int 4^x dx - \int \frac{1}{1+x^2} dx =$$

$$= \frac{4^x}{\ln 4} - \arctg x + C$$

$$\text{Pr 21)} \int \frac{1}{\cos 2x - \cos^2 x} dx = \int \frac{\sin^2 x + \cos^2 x}{\cos^2 x - \sin^2 x - \cos^2 x} dx = - \int \frac{\sin^2 x}{\cos^2 x} dx =$$

$$- \int \frac{\boxed{\cos^2 x}}{\cos^2 x} dx = - \int dx - \int \frac{\boxed{1 - \sin^2 x}}{\sin^2 x} dx = -x - \int \left(\frac{1}{\sin^2 x} - 1\right) dx =$$

$$= -x + \cotg x + x + C = \cotg x + C$$

$$\text{Pr 22)} \int \frac{2x^{-3}}{x \cdot \sqrt{x}} dx = \int \frac{2x}{x \sqrt{x}} dx - \int \frac{3}{x \cdot \sqrt{x}} dx = 2 \int x^{-\frac{1}{2}} dx - 3 \int \frac{1}{x^{\frac{3}{2}}} dx =$$

$$= 2 \frac{x^{\frac{1}{2}}}{\frac{1}{2}} - 3 \frac{x^{-\frac{1}{2}}}{-\frac{1}{2}} + C = 4\sqrt{x} + 6 \frac{1}{\sqrt{x}} + C$$

$$\text{Pr 23)} \int \frac{3 - 5\sqrt{1-x^2}}{\sqrt{1-x^2}} dx = 3 \int \frac{dx}{\sqrt{1-x^2}} - 5 \int \frac{\sqrt{1-x^2}}{\sqrt{1-x^2}} dx = 3 \arcsin x - 5x + C$$

$$\text{Pr 23)} \int \frac{x^4 - 5}{1 + x^2} dx = \int \frac{x^4 - 1 - 4}{1 + x^2} dx = \int \frac{(x^2 - 1)(x^2 + 1)}{1 + x^2} dx - 4 \int \frac{dx}{1 + x^2} =$$

$$= \int (x^2 - 1) dx - 4 \arctg x = \frac{x^3}{3} - x - 4 \arctg x + C$$

$$25) \int (6x^5 - 15x^4 + 8x^3 + \ln 2) dx = 6 \int x^5 dx - 15 \int x^4 dx + 8 \int x^3 dx + \ln 2 \int dx =$$

$$= 6 \frac{x^6}{6} - 15 \frac{x^5}{5} + 8 \frac{x^4}{4} + x \cdot \ln 2 + C = x^6 - 3x^5 + 2x^4 + x \ln 2 + C$$

$$26) \int \frac{(x-5)^2}{x^2} dx = \int \frac{x^2 - 10x + 25}{x^2} dx = \int \frac{x^2}{x^2} dx - 10 \int \frac{x}{x^2} dx + 25 \int \frac{1}{x^2} dx =$$

$$= \int dx - 10 \int \frac{1}{x} dx + 25 \int x^{-2} dx = x - 10 \ln |x| + 25 \frac{x^{-1}}{-1} + C = x - 10 \ln |x| - \frac{25}{x} + C$$

$$27) \int 3e^x \left( 2 - \frac{e^{-x}}{x^4} \right) dx = \int \left( 6e^x - \frac{3}{x^4} \right) dx = 6 \int e^x dx - 3 \int x^{-4} dx =$$

$$= 6e^x - 3 \frac{x^{-3}}{-3} + C = 6e^x + \frac{1}{x^3} + C$$

$$28) \int (3 \sin x + 5 \cos x) dx = 3 \int \sin x dx + 5 \int \cos x dx = -3 \cos x + 5 \sin x + C$$

$$\begin{aligned}
 29) \int \frac{\cos 2x}{\cos^2 x} dx &= \int \frac{\cos^2 x - \sin^2 x}{\cos^2 x} dx = \int \frac{\cos^2 x}{\cos^2 x} dx - \int \frac{\sin^2 x}{\cos^2 x} dx = \\
 &= \int dx - \int \frac{1 - \cos^2 x}{\cos^2 x} dx = x - \int \frac{1}{\cos^2 x} dx + \int \frac{\cos^2 x}{\cos^2 x} dx = x - \operatorname{tg} x + x + C = \\
 &= 2x - \operatorname{tg} x + C
 \end{aligned}$$

$$\begin{aligned}
 30) \int (8x^7 + \sqrt[3]{x} - 4) dx &= 8 \int x^7 dx + \int x^{\frac{1}{3}} dx - 4 \int dx = 8 \frac{x^8}{8} + \frac{x^{\frac{4}{3}}}{\frac{4}{3}} - 4x + C = \\
 &= x^8 + \frac{3}{4} x^{\frac{4}{3}} - 4x + C
 \end{aligned}$$

$$\begin{aligned}
 31) \int (2 \operatorname{tg} x + 3 \operatorname{cotg} x)^2 dx &= \int (4 \operatorname{tg}^2 x + 12 \operatorname{tg} x \cdot \operatorname{cotg} x + 9 \operatorname{cotg}^2 x) dx = \\
 &= 4 \int \operatorname{tg}^2 x dx + 12 \int dx + 9 \int \operatorname{cotg}^2 x dx = 4 \int \frac{\sin^2 x}{\cos^2 x} dx + 12x + 9 \int \frac{\cos^2 x}{\sin^2 x} dx = \\
 &= 4 \int \frac{1 - \cos^2 x}{\cos^2 x} dx + 12x + 9 \int \frac{1 - \sin^2 x}{\sin^2 x} dx = 4 \int \left( \frac{1}{\cos^2 x} - \frac{\cos^2 x}{\cos^2 x} \right) dx + \\
 &+ 12x + 9 \int \left( \frac{1}{\sin^2 x} - \frac{\sin^2 x}{\sin^2 x} \right) dx = 4 \operatorname{tg} x - x + 12x + 9(-\operatorname{cotg} x) - 9x + C = \\
 &= 4 \operatorname{tg} x - x - 9 \operatorname{cotg} x + C
 \end{aligned}$$

$$32) \int \frac{x^3 - 6x + 1}{x} dx = \int x^2 dx - 6 \int dx + \int \frac{1}{x} dx = \frac{x^3}{3} - 6x + \ln|x| + C$$

$$\begin{aligned}
 33) \int \frac{3x^2 - 2}{x^2 + 1} dx &= 3 \int \frac{x^2}{x^2 + 1} dx - 2 \int \frac{dx}{x^2 + 1} = 3 \int \frac{x^2 + 1 - 1}{x^2 + 1} dx - 2 \operatorname{arctg} x = \\
 &= 3 \int \left( \frac{x^2 + 1}{x^2 + 1} - \frac{1}{x^2 + 1} \right) dx - 2 \operatorname{arctg} x = 3x - 3 \operatorname{arctg} x - 2 \operatorname{arctg} x + C = \\
 &= 3x - 5 \operatorname{arctg} x + C
 \end{aligned}$$

$$34) \int (x^4 + 3)^2 dx = \int (x^8 + 6x^4 + 9) dx = \frac{x^9}{9} + 6 \frac{x^5}{5} + 9x + C$$

$$\begin{aligned}
 35) \int \frac{\cos 2x}{\cos^2 x \cdot \sin^2 x} dx &= \int \frac{\cos^2 x - \sin^2 x}{\cos^2 x \cdot \sin^2 x} dx = \int \frac{\cos^2 x}{\cos^2 x \cdot \sin^2 x} dx - \int \frac{\sin^2 x}{\cos^2 x \cdot \sin^2 x} dx = \\
 &= \int \frac{dx}{\sin^2 x} - \int \frac{dx}{\cos^2 x} = -\cotg x - \operatorname{tg} x + C
 \end{aligned}$$

$$36) \int \frac{1}{\sin^2 x \cdot \cos^2 x} dx = \int \frac{\cos^2 x + \sin^2 x}{\sin^2 x \cdot \cos^2 x} dx = \operatorname{tg} x - \cotg x + C$$

$$\begin{aligned}
 37) \int \sin^2 \frac{x}{2} dx &= \int \frac{1 - \cos 2 \cdot \frac{x}{2}}{2} dx = \int \frac{1}{2} dx - \int \frac{\cos x}{2} dx = \\
 &= \frac{1}{2} x - \frac{1}{2} \sin x + C = \frac{x - \sin x}{2} + C
 \end{aligned}$$

$$38) \int \operatorname{tg}^2 x dx = \int \frac{\sin^2 x}{\cos^2 x} dx = \int \frac{1 - \cos^2 x}{\cos^2 x} dx = \int \frac{1}{\cos^2 x} dx - \int dx = \operatorname{tg} x - x + C$$

$$39) \int \left( \frac{1}{x^2} + \frac{1}{\sqrt{x}} + 1 \right) dx = \int x^{-2} dx + \int x^{-\frac{1}{2}} dx + \int dx = \frac{x^{-1}}{-1} + \frac{x^{\frac{1}{2}}}{\frac{1}{2}} + x + C =$$

$$= -\frac{1}{x} + 2\sqrt{x} + x + C$$

$$40) \int \left( 5x\sqrt{x} + \frac{1}{2\sqrt{x^3}} - \frac{1}{x} \right) dx = 5 \int x^{\frac{3}{2}} dx + \frac{1}{2} \int x^{-\frac{3}{2}} dx - \int \frac{1}{x} dx =$$

$$= 5 \frac{x^{\frac{5}{2}}}{\frac{5}{2}} + \frac{1}{2} \frac{x^{-\frac{1}{2}}}{-\frac{1}{2}} - \ln|x| + C = 5\sqrt{x^5} \cdot \frac{2}{5} - \frac{1}{2} \cdot \frac{1}{\sqrt{x}} \cdot 2 - \ln|x| + C =$$

$$= 2\sqrt{x^5} - \frac{1}{\sqrt{x}} - \ln|x| + C$$

$$41) \int (\sqrt{x} + 1) \cdot (x - \sqrt{x} + 1) dx = \int (x\sqrt{x} - \sqrt{x} \cdot \sqrt{x} + \sqrt{x} + x - \sqrt{x} + 1) dx =$$

$$= \int (x\sqrt{x} + 1) dx = \int x^{\frac{3}{2}} dx + \int dx = \frac{x^{\frac{5}{2}}}{\frac{5}{2}} + x + C = \frac{2}{5} \sqrt{x^5} + x + C$$

$$42) \int x^2 (2-x)^2 dx = \int x^2 (4 - 4x + x^2) dx = \int (4x^2 - 4x^3 + x^4) dx =$$

$$= 4 \int x^2 dx - 4 \int x^3 dx + \int x^4 dx = 4 \frac{x^3}{3} - 4 \frac{x^4}{4} + \frac{x^5}{5} + C =$$

$$= \frac{4}{3} x^3 - x^4 + \frac{1}{5} x^5 + C$$

$$43) \int \left( \frac{1-x}{x} \right)^2 dx = \int \frac{(1-x)^2}{x^2} dx = \int \frac{1-2x+x^2}{x^2} dx = \int \frac{1}{x^2} dx - 2 \int \frac{x}{x^2} dx + \int dx =$$

$$= \frac{x^{-1}}{-1} - 2 \ln|x| + x + C = -\frac{1}{x} - 2 \ln|x| + x + C$$

$$44) \int \frac{(1+x)^2}{x\sqrt{x}} dx = \int \frac{1+2x+x^2}{x \cdot x^{\frac{1}{2}}} dx = \int x^{-\frac{3}{2}} dx + 2 \int \frac{x^1}{x^{\frac{3}{2}}} dx + \int \frac{x^2}{x^{\frac{3}{2}}} dx =$$

$$= \frac{x^{-\frac{1}{2}}}{-\frac{1}{2}} + 2 \int x^{-\frac{1}{2}} dx + \int x^{\frac{1}{2}} dx = \frac{-2}{\sqrt{x}} + 2 \frac{\sqrt{x}}{\frac{1}{2}} + \frac{x^{\frac{3}{2}}}{\frac{3}{2}} + C =$$

$$= -\frac{2}{\sqrt{x}} + 4\sqrt{x} + \frac{2}{3} \sqrt{x^3} + C$$

$$45) \int \frac{5+xe^x}{x} dx = 5 \int \frac{1}{x} dx + \int \frac{xe^x}{x} dx = 5 \ln|x| + e^x + C$$

$$46) \int e^x \left( 2 + \frac{e^{-x}}{x^3} \right) dx = \int \left( 2e^x + \frac{e^x \cdot e^{-x}}{x^3} \right) dx = 2 \int e^x dx + \int \frac{1}{x^3} dx =$$

$$= 2e^x + \frac{x^{-3}}{-3} + C = 2e^x - \frac{1}{3x^3} + C$$

$$47) \int \frac{4^x}{5^x} dx = \int \left( \frac{4}{5} \right)^x dx = \frac{\left( \frac{4}{5} \right)^x}{\ln \frac{4}{5}} + C = \frac{1}{\ln 4 - \ln 5} \left( \frac{4}{5} \right)^x + C$$

$$48) \int \frac{e^{2x} + 5e^x}{6e^x} dx = \int \frac{e^x(e^x + 5)}{6e^x} dx = \frac{1}{6} \int (e^x + 5) dx =$$

$$= \frac{1}{6} e^x + \frac{5}{6} x + C$$

$$49) \int (2 \cdot 3^x - 3 \cdot 2^x) dx = 2 \int 3^x dx - 3 \int 2^x dx = 2 \frac{3^x}{\ln 3} - 3 \frac{2^x}{\ln 2} + C$$

$$50) \int 9^x \cdot e^x dx = \int (9e)^x dx = \frac{(9e)^x}{\ln 9e} + C = \frac{(9e)^x}{\ln 9 + \ln e} + C = \frac{(9e)^x}{\ln 9 + 1} + C$$

$$51) \int \frac{2^x - 3^x}{6^x} dx = \int \left(\frac{2}{6}\right)^x dx - \int \left(\frac{3}{6}\right)^x dx = \int \left(\frac{1}{3}\right)^x dx - \int \left(\frac{1}{2}\right)^x dx =$$

$$= \frac{\left(\frac{1}{3}\right)^x}{\ln \frac{1}{3}} - \frac{\left(\frac{1}{2}\right)^x}{\ln \frac{1}{2}} + C = \left(\frac{1}{3}\right)^x \cdot \frac{1}{\ln 1 - \ln 3} - \left(\frac{1}{2}\right)^x \cdot \frac{1}{\ln 1 - \ln 2} + C$$

$$52) \int \left( \frac{1}{\pi x} + a^{\pi x} \right) dx = \frac{1}{\pi} \int \frac{1}{x} dx + \int (a^\pi)^x dx = \frac{1}{\pi} \ln|x| + \frac{(a^\pi)^x}{\ln(a^\pi)} + C =$$

$$= \frac{\ln|x|}{\pi} + \frac{a^{\pi x}}{\pi \ln a} + C$$

$$53) \int \frac{(1+\sqrt{x})^2}{6x} dx = \int \frac{1+2\sqrt{x}+x}{6x} dx = \frac{1}{6} \int \frac{1}{x} dx + \frac{1}{3} \int \frac{\sqrt{x}}{x} dx + \frac{1}{6} \int dx =$$

$$= \frac{1}{6} \ln|x| + \frac{1}{3} \cdot \frac{x^{\frac{1}{2}}}{\frac{1}{2}} + \frac{x}{6} + C = \frac{\ln|x|}{6} + \frac{2}{3} \sqrt{x} + \frac{x}{6} + C$$

$$54) \int \frac{(x^m - x^n)^2}{\sqrt{x}} dx = \int \frac{x^{2m} - 2x^{m+n} + x^{2n}}{x^{\frac{1}{2}}} dx = \int \frac{x^{2m}}{x^{\frac{1}{2}}} dx - 2 \int \frac{x^{m+n}}{x^{\frac{1}{2}}} dx + \int \frac{x^{2n}}{x^{\frac{1}{2}}} dx$$

$$= \int x^{2m-\frac{1}{2}} dx - 2 \int x^{m+n-\frac{1}{2}} dx + \int x^{2n-\frac{1}{2}} dx =$$

$$= \int x^{\frac{4m-1}{2}} dx - 2 \int x^{\frac{2m+2n-1}{2}} dx + \int x^{\frac{4n-1}{2}} dx = \frac{x^{\frac{4m-1}{2}+1}}{\frac{4m-1}{2}+1} - 2 \frac{x^{\frac{2m+2n-1}{2}+1}}{\frac{2m+2n-1}{2}+1} +$$

$$+ \frac{x^{\frac{4n-1}{2}+1}}{\frac{4n-1}{2}+1} + C = \frac{x^{2m+\frac{1}{2}}}{2m+\frac{1}{2}} - 2 \frac{x^{m+n+\frac{1}{2}}}{m+n+\frac{1}{2}} + \frac{x^{2n+\frac{1}{2}}}{2n+\frac{1}{2}} + C$$

$$55) \int \frac{\sqrt{x}}{\sin^2 x \cdot \cos^2 x} dx = \sqrt{x} \int \frac{1}{\sin^2 x \cdot \cos^2 x} dx = \sqrt{x} \int \frac{\sin^2 x + \cos^2 x}{\sin^2 x \cdot \cos^2 x} dx$$

$$= \sqrt{x} \int \left( \frac{\sin^2 x}{\sin^2 x \cdot \cos^2 x} + \frac{\cos^2 x}{\sin^2 x \cdot \cos^2 x} \right) dx = \sqrt{x} \int \frac{1}{\cos^2 x} dx + \sqrt{x} \int \frac{1}{\sin^2 x} dx =$$

$$= \sqrt{x} (\operatorname{tg} x - \operatorname{cotg} x) + C$$

$$56) \int x^3 dx - \frac{1}{2} \int x dx + \int \frac{1}{x} dx = 2 \frac{x^4}{4} - \frac{1}{2} \cdot \frac{x^2}{2} + \ln|x| + C =$$

$$= \frac{1}{2} x^4 - \frac{1}{4} x^2 + \ln|x| + C$$

$$57) \int \left( \frac{1}{x^{\frac{3}{4}}} + \frac{1}{x^{\frac{1}{2}}} \right) dx = \int x^{-\frac{3}{4}} dx + \int x^{-\frac{1}{2}} dx = \frac{x^{\frac{1}{4}}}{\frac{1}{4}} + \frac{x^{\frac{1}{2}}}{\frac{1}{2}} + C = \underline{4\sqrt[4]{x} + 2\sqrt{x} + C}$$

$$58) \int \frac{(1+\sqrt{x})^2}{6x} dx = \int \frac{1+2\sqrt{x}+x}{6x} dx = \int \frac{dx}{6x} + 2 \int \frac{\sqrt{x}}{6x} dx + \int \frac{x}{6x} dx =$$

$$= \frac{1}{6} \int \frac{dx}{x} + \frac{1}{3} \int \frac{1}{\sqrt{x}} dx + \frac{1}{6} \int dx = \frac{1}{6} \ln|x| + \frac{1}{3} \cdot \frac{x^{\frac{1}{2}}}{\frac{1}{2}} + \frac{1}{6} x + C =$$

$$= \frac{\ln|x|}{6} + \frac{1}{3} \cdot \sqrt{x} \cdot 2 + \frac{x}{6} + C = \underline{\frac{\ln|x|}{6} + \frac{2\sqrt{x}}{3} + \frac{x}{6} + C}$$

$$59) \int 10^x \cdot e^x dx = \int (10e)^x dx = \frac{(10e)^x}{\ln 10e} + C = \frac{(10e)^x}{\ln 10 + \ln e} + C =$$

$$= \frac{(10e)^x}{\ln 10 + 1} + C$$

$$60) \int \frac{(2^x - 3^x)^2}{6^x} dx = \int \frac{2^{2x} - 2 \cdot (3^x \cdot 2^x) + 3^{2x}}{6^x} dx = \int \frac{2^{2x} - 2 \cdot 6^x + 3^{2x}}{6^x} dx =$$

$$= \int \frac{2^{2x}}{6^x} dx - \int \frac{2 \cdot 6^x}{6^x} dx + \int \frac{3^{2x}}{6^x} dx =$$

$$(ab)^m = a^m \cdot b^m$$

$$= \int \left( \frac{2^2}{6} \right)^x dx - \int 2 dx + \int \left( \frac{3^2}{6} \right)^x dx = \int \left( \frac{2}{3} \right)^x dx - 2 \int dx + \int \left( \frac{3}{2} \right)^x dx =$$

$$= \frac{\left( \frac{2}{3} \right)^x}{\ln \frac{2}{3}} - 2x + \frac{\left( \frac{3}{2} \right)^x}{\ln \frac{3}{2}} + C$$

$$61) \int \cot^2 x \, dx = \int \frac{\cos^2 x}{\sin^2 x} \, dx = \int \frac{1 - \sin^2 x}{\sin^2 x} \, dx = \int \frac{1}{\sin^2 x} \, dx - \int dx =$$

$$= -\cot x - x + C$$

$$62) \int \frac{5 \tan^2 x - 1}{\sin^2 x} \, dx = \int \frac{5 \cdot \frac{\sin^2 x}{\cos^2 x} - 1}{\sin^2 x} \, dx = 5 \int \frac{\sin^2 x}{\cos^2 x} \cdot \frac{1}{\sin^2 x} \, dx - \int \frac{dx}{\sin^2 x} =$$

$$= 5 \int \frac{dx}{\cos^2 x} - \int \frac{dx}{\sin^2 x} = 5 \tan x + \cot x + C$$

$$63) \int \left( \sin \frac{x}{2} - \cos \frac{x}{2} \right)^2 \, dx = \int \left( \sin^2 \frac{x}{2} - 2 \cdot \sin \frac{x}{2} \cdot \cos \frac{x}{2} + \cos^2 \frac{x}{2} \right) \, dx =$$

$$= \int \left( 1 - 2 \sin \frac{x}{2} \cdot \cos \frac{x}{2} \right) \, dx = \int \left( 1 - \sin \left( 2 \cdot \frac{x}{2} \right) \right) \, dx = \int (1 - \sin x) \, dx =$$

$\sin 2\alpha = 2 \cdot \sin \alpha \cdot \cos \alpha$

$$= \int dx - \int \sin x \, dx = x + \cos x + C$$